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Run 6105 mpswise, accO: All

Enilries: 204693

Mean: 65170 +- 00128

Sid Dey: 62502 - 000940
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Run 6105 mpswise, acc0: Beam ON, Laser ON
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Eniries: 2TER2

Mean: 15.2360 «/- 0.0074

Entries: 276

Mean: 16.2531 /- 00075

Std Deeyz 1. 2480 4 00053
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Run 6105 mpswise, accQ: Beam OFF

Enlries: 40639

Meari: 003197 40~ 0.0005

Sid Dev: 017143 - 0.0004
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Run 6105 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==

Entries: 18431

Mean: 33066 +- 0LOIE

Sid Drev: 05367 & 0.0027
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AccO/NAccO

AccO/NAccO

Run 6105 mpswise, AccO vs Time: All Run 6105 mpswise, AccO vs Time: Beam OFF
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Run 6105 mpswise, AccO vs Time: Beam ON, Laser ON Run 6105 mpswise, Accl vs Time: Beam ONM, Laser OFF
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